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QUESTION 1

What statement about Open vSwitch is TRUE?

A. It is a standard virtual switch that can run on any operating system.
B. It can only be configured using Openflow by an SDN controller.

C. It provides tunneling mechanisms, for example: VXLAN.

D. It supports most of the open protocols, for example: OSPF, BGP.

Correct Answer: C

QUESTION 2

What statement is TRUE regarding the workflow for live migration of a virtual machine with Nuage VCS?
A. Only the destination hypervisor\\'s VRS agent notifies the VSC of the VM migration.

B. Both the source and destination hypervisor\\'s VRS agents notify the VSC of the VM migration.

C. VSD is not notified of the VM migration.

D. CMS (if used) is not notified of the VM migration.

Correct Answer: B

QUESTION 3

For a packet transmitted using VXLAN encapsulation, where is the VXLAN header within the packet?
A. Itis part of the Layer 2 Ethernet header, just like VLAN.

B. It is added between the Layer 2 header and the Layer 3 IP header.

C. It is added between the Layer 3 IP header and the TCP/UDP transport layer header.

D. It is added between the UDP header and the payload.

Correct Answer: C

Reference: https://openct.net/wp-content/uploads/OpenCT-BaaT-Technical-Documentation-2020.pdf

QUESTION 4

Which statement about SDN is correct?
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A. Network control is fully integrated into the forwarding plane.

B. SDN supports cloud computing by automating virtual machine instantiation.
C. The APl interface provides a way to program the SDN switch directly.

D. The SDN controller provides global provisioning of network devices.
Correct Answer: B

Reference: https://searchnetworking.techtarget.com/definition/software-defined-networking-SDN

QUESTION 5

To auto-instantiate services on a 7750 DCI, which protocol needs to be enabled between the 7750 SR and VSD?
A. SNMP

B. Openflow

C. XMPP

D. BGP EVPN

Correct Answer: C

Latest 4A0-NO1 Dumps 4A0-NO1 Study Guide 4A0-NO1 Exam Questions

Latest 4A0-NO1 Dumps | 4A0-NO1 Study Guide | 4A0-NO1 Exam Questions 3/3


https://www.pass2lead.com/4a0-n01.html
https://www.pass2lead.com/4a0-n01.html
https://www.pass2lead.com/4a0-n01.html
http://www.tcpdf.org
https://www.pass2lead.com/4a0-n01.html
https://www.pass2lead.com/4a0-n01.html
https://www.pass2lead.com/4a0-n01.html

